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Question Nos. 1 to 8 are Multiple choice type which corry 1 mark each.
U JWT 1 A 8 ddb dgamedld Ued & TSiAcl U |1
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Question Nos. 9 to 15 are very short Answer type which corry 1 mark each.
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Question Nos. 16 to 23 are very short Answer type — I which corry 2 marks

each.

Ues JWT 16 A 23 ddb oy Idag- | ued & foermr ugs

PBT HATT 2 37 2

Question Nos. 24 to 31 are short Answer type — II which corry 3 marks each.

Uoe WIT 24 A 31 db oy Iadu- 1l uea & et ugEw

PHT ATl 3 3ich & |

Question Nos. 32 to 34 are long short Answer type which corry 5 marks each.

gosT JBT 32 A 34 db " I ued & [Sletasr usiswm
HATeT 5 37k & |

(Multiple Choice Type Questions)

(@gapedr weeT)

H,O (ice) is an example of

(a) Polar molecular Solid

(b) Hydrogen bonded molecular solid

(¢) Ionic Solid

(d) None of these.
H,0 (%) T IS0 &

(a) gt 3nfvaes oA @B1

(b) BTSgioer 3rdierg anfvaes SRT T

(c) 3mmaferas A BT (d)zetdt X s gt
Rate = K [NH,; NO,] is an example of

(a) Zero order reaction (b) First order reaction
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(¢) Second order reaction (d) None of these.

Jor=K [NH,; NO,]| Uep  3eT83or 8
(a) gre wmife it @1 (b) weraer wite 31farfesar @1
(c) T =pife afdrfsar &1 (d) sad A BIs ér

Al’thd AlCl3 C2H5
@ +C2 H5Cl > @ Hcl
The reaction is

(a) Finkelstein reaction (b) Friedel Craft’s reaction
(c) Fittig reaction (d) None of these.
3rTe Alcl; |C2H5
@ +C2 H5Cl > @ + Hcl
arfarferar &)

(a) Rpehereerger 3if3TehaT (b) wWiger wrae 3ATaehaT

(c) fepctor  3rfarfesaT (d) e JF Pdg Tar
Bauxite is an ore of
(a) Fe (b) Al
(c) Zn (d) Cu
dTFATSE 3G &
(a) Fe @mr (b) Al eBT
(¢c) Znp1 (d) Cuasr
Chlorobenzene + H,0 700 K
———% A
(Steam)
‘A’ is
(a) Benzene (b) Phenol
(c) Benzyl alcohol (d) None of these
FARI Jeoitel + H,O 700 K
_ T LA
(a1Ta)
‘AT
(a) deoitel (b) wtaiTet
(c) SeoiTsel Uohlgd (d) geret A BIg =Tt
Acetaldehyde + 4[H] Zn-Hg/Hcl
‘A’ s i
(a) Methane (b) Ethane
(c) Propane (d) None of these
wielesarss  +4 [H] Zn-Hg/Hel

‘A’%
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(a) FAS (b) werer

(c) Traret (d)getdd JF B1g =idl
Which enzyme helps in coverting maltose into glucose ?

(a) Urease (b) Maltase

(c) Lactase (d) None of these

HATCSIA Pl ogpA H URaidd Heel H hiad AT TeollgH 3
FHAT B ?

(a) YRTS (b) AT
(c) SRt (d) et A HIE Tt
CH; COONa  NaOH and Cao
H > Product
eat
the product is
(a) C, Hy (b) CHy4
(¢) CH;COOH (d) None of these
CH3; COONa  NaOH aarr Cao_
oTH *
Iae ®
(a) C, He (b) CH,4
(c) CH;COOH (d)sad X PIs TEr

(Very Short Answer Type Questions)
(arfr g 3T wee)

Calculate the overall order of a reaction which has rate expression

Rate =K [A]"? [B]™

aifarferar @5 @t wife Y ovren WIS e Jor =o'
Jor=K [A]? [B]"

Rickets occurs due to deficiency of which vitamin?

e Refde @5 wet ¥ Rdbew gar 292

Write dispersed phase and dispersion medium of milk, a colloidal solution.

T, UF didise [dorde ol uRférd uraserm der ufRRgigor &g

\SEER

Write the monomer used for getting the polymer, Polystyrene.

aw,ﬁﬁmsﬁaaﬁwmﬁ%%eugaﬁm%ﬁtl

Write [UPAC Name of CH; CH (CH;3) CH(Br) CH;

CH;3 CH (CH3) CH (Br) CH; @1 3msogodtorwofto = forsd |
Give an example of aldotetrose.

TcsleelA bl TUdh IGTa0T < |

Give an example of tranquilizer.

UeTides @ U 3IGTEI0T & |
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(Short Answer I Type Questions)
(cg 3T [ uee)

Distingiush between Oxidation Potential and reduction Potential.
3TRNBor feta derm ruawe st o fasie w3

What is role of Cryolite in the metallurgy of aluminium?
UAfATCRIA & aIgdd # Bralcise @l aar ofdHdr & 2
Give the disproportionation reaction of H3PO; .

H;PO; @6t 3raaATeIuTdst aifafeser fse |

Write docon the electronic Configuration of (a) Mn** and (b) Cr**
(a) Mn*" and (b) Cr’* & sorergTeres Reums faRaw |
Complete the following :

(a) CH;3;Br + KCN (alc) ———
(b) C2H5BI' + AgN02 e

Rreeniaiea & @1 & -

(a) CH;Br + KCN (ale) ——»
(b) C2H5Br + AgNOZ e

What are the expected Products of hydrolysis of Lactose?
I B Ol 3HU"ce A Thel IcUIGT B defel oY 3TUET o
2?7
How Can You distinguish between addition and Condensation Polymerisatic
JFbeTel 3N HAGelel TgSTdhel & HeT HT HA UbR R
FHoor ?

What is tincture of lodine? What is its use?

S b7 Gz R=IT 8lar 8 ? SHAP =T IuATeT & ?

(Short Answer II Type Questions)
g 3T 1 uea)

Distinguish between Schottky defect and Frenkel defect.
STl QY gl haal ay H fasie &L |
Explain order of reaction.

ITHTHAT B Bife BT aofor B3 |

Explain the following terms :

(a) Dialysis (b) Tyndal effect
foraeT uel &l JHIATSE:
(a) 3rdrEeT (b) Reser watTa

How will you bring about the following transformations ?
(a) Ethanol to Ethanal

n?

(A

o

—

1+1=2

1+1=2

1+1=2

2+12 =3

(%)

12 =3

+1+1=3



(b) Acetic acid to Acetyl Chloride

(c) Benzene to Toluene
fereentaiRaa uRadsr 3mg HA T ?

(a) TASTA F TS

(b) u3étes 3131 J THerse aeReEs

() Sresiter A elerge

28 Using IUPAL norms write the formulas for the following :
(a) diammine dichlorido platinum (II)
(b) Penta ammine nitrito-o-cobalt (III)
(c) Potassium tetra cyano nickelate (II)

IUPAL ferorat & 3mer ur freenfaiRaa @ fov gz fafRae:
(a) STERFIST sisaaizsr wieaa (1)
(b) Ueer UeHla arsfger —o- wpraee (1)
(c) uiRelerra 2gr ArE ferboie (1)
29 What is Kohlrauschis law ?
PITRI3T Bl foreT =T & 7
30 Predict the Product :

OH
(a) @ +3 Br, -

9

Anhydrous Fecls
(b) @ +Cl, >
H,O
() (C¢HsCO)O >
3l ddrsuv
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(¢) (C¢Hs5CO)0

v

1+1+1=3

I+1+1=3
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Complete the following reactions :
(a) XeF, + NaF AL
(b) XeFs + H,O e
(C) Py + NaOH + H,O >

reetaRaa aifafsmatt & ggr &2 -
(a) XeFg ca NaF S TR
(b) XeFs s H,O gL
(¢)P4, + NaOH+ H,O e

(Long Answer Type Questions)
@ef 3T uea)
A Sample of drinking water was found to be severely Contaminated yith
Chloroform (CHcls) Supposed to be a Carcinogen. The level of Contamination
was 15 ppm (by mass) :

(i) express this in percent by mass

(1) determine the molality of chloroform in the water Sample.
Uk U STt BT otd]elT aariwria (CHely) A, BaAsiey JAAS $Ter
Bt FAAT dp aga fTE Aga B sHAA Aguur Bt AT |15
ppm (E&THTOT H) & —

() =X geaTor ufderd & <=rera BIfSTw |

(i) ST & Tt A TERIBIA B AlcTardl ST BITSTT |

OR 7 3terar

The following results have been obtained during the kinetic Studies of] the
reaction :

2A+B ~——»C+D

Experiment [AJ/mol L | [B)/mol L™ | Initial rate of formation ¢f
D/ mol L™ min™*

I 0.1 0.1 6.0x 107

I 0.3 0.2 72x 107

111 0.3 0.4 2.88x 107

I\ 0.4 0.1 2.40x 107

Determine the ratelaw and rate Constant for the reaction
2A4B —» C + D sttafehar &) aoiorfaes!  37ersyel  ehbial | U2
fereatfeiiRaa aRomer ura gu |

=TT [A/molL" [ [B)/molL" |D & ===t @
gT3f37es o1/ mol L™ min

I 0.1 0.1 6.0x 107

I 0.3 0.2 72x 107

111 0.3 0.4 2.88x 107

vV 0.4 0.1 240 x 107

I+1+1=3

2+3=5
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srfarfeear @ fE dor forger germ dor Reris sita Hifsw |
Give the Principle involved in monufacture of nitric acid by Ostwald proc
How does Concentrated HNOj; reacts with

(i) C and (i) I, ?
3MNcares fafsr  aefees 397 @ Iaea F fofega Riga
st | Ateg HNO; (i) C der (i) I, ¥ e s amfdfce=m 4
g7

OR / 3tgar

How does white Phosphorus reacts with (i) H,SO, (ii) Sulphur (iii)
(iv) Naand (v) HNOjs
2dad WIFHRA A b (i) HoSO, (i) Jewe  (iii) Mg (iv) Na i
(v) HNO;
Write short notes on the following :

(a) Aldol Condensation

(b) Wurtz reaction

(c) Stephen reaction
foreafeiRaa o Jfera fewoft o= -

(a) Uestal  Hdeldd

(bygest  stfatsaT

(c) T PBat  3TTaTfesaT

OR 31erar
Identify ‘X, “Y’ and ‘Z’ in the following :
(a) CHj Cl; (boil) . KOH (aq)
———_——_—» GY’
(b) @ CH;Cl | . Cl,/Heat

Anhyd. AICI;

(C%)OH SOCl, . 7

5 8

1H1+1+1

+1=5

1V2+1"2
+2=5

A+2+1+5




forgetiaRadg & ¥ ‘X°, ‘Y g ‘Z’ &l usgdre

(a) CH; Cly(boil) 5 KOH (aq) i
(b) @ 55 e I Clyforaf
-

Anhyd. AIC;

(C%DOH SOCL, .,

‘Y’




